[4AN] swir)

001

00<Z

00¢

0]0)%

00§

009

! ! ! ! ! ! _® ! ! ! 00/
S/WX Q0T=A DSWs 0'0=Z WN 0e=IN

Joguwinu aul



[1AN] sy
¢¢ 6 GV ¥ Gt & G2 Z G1

I

S/WY 00T=A OSWsg0'0=Z

00000S
GOTXT
GOTXS'T
s0T%C
J0T%XSC
JOTXE
JOTXG'€E
SOTXY
JOTXS'Y
J0TXS
J0TXG'G

[44] 3



[4AN] swir)

¢¢ 6§ % v G¢ ¢ §¢ ¢ G661 1T GO0 O

S/Wy QOT=A 2Wsz0'0=Z “WO0E=W

6°6<
1662
26’6l
€66l
V662
5667
96°6<
£66<
8667
6662
0]9

luns\| ssep



[4AN] swir)
¢¢ ¢ v ¥ G¢ ¢ 62 ¢ S1 1T G0 O

r o
T e

o oo
B TR L L A { ooooc

” 00052
0000¢
0005¢
0000tV
00045V

| | | | | | _® i it m 0000S
S/WX O00T=A DWsZ0'0=Z N OE=IN

1] 4oL



[4AN] swir)

g

S/WY 00T=A DWsgO0=Z

“W 0E=IN

[[unsT]] 730)



[1AN] sy
¢ ¢ Sv v G¢ €& 6¢ ¢ S1 1T G0 O

00<Z

0]0)%

009
e e e e { oo
o { ooo

L ] 0T

- e ——pt

! ! ! ! ! ! ! . ! ! ! 0091
S/WY 00T=A SWs¢00=Z N 0e=IN

lunsy| ¥



[4AN] swir)

S/Wy QOT=A 2Wsz0'0=Z “W O0E=W

[[4A/unsy]] (3op)30]



[4AN] swir)

S/Wy QOT=A 2Wsz0'0=Z “W O0E=W

G0-

G0

G'1

G ¢

G'e

17 7

[[gs/w>]] 3307



[4AN] swir)
¢¢ ¢ Sv ¥ G¢ € G¢ ¢ SG1 1T S0 O

‘JH_ | | | | | | | | | o
e

R | oor

e — s | 051

e e o o

! ! ! ! ! ! _® ! ! ! 0GZ
S/WX Q0T=A DSWs 0'0=Z WN 0e=IN

[s/w] Jansp



[1AN] sy

¢¢ ¢ v ¥ G¢ ¢ G6G¢ ¢ S1 1T G0 O

S/Wy QOT=A OWSz0'0=Z “WOL=I

00T
00<Z
00¢
0]0]7
00§
009
00Z
008
006
0001
OOTI

[s/wsi] 1o



[1AN] sy

¢¢ ¢ v ¥ G¢ ¢ G6G¢ ¢ S1 1T G0 O

S/Wy QOT=A OWSz0'0=Z “WOL=I

10
G1°0
¢0
G20
¢0
Ge0
0
G0

G0

[——1%D



[4AN] swir)

¢¢ ¢ v ¥ G €& 62 ¢ S1 1T 60 O

S/Wy QOT=A 2Wsz0'0=Z “W O0E=W

G0

G0

|[pa1elj0odesixa: T‘/palenwis:Q] SelH



[4AN] swir)

¢¢ 6§ % v G¢ ¢ §¢ ¢ G661 1T GO0 O

S/Wy QOT=A 2Wsz0'0=Z “WO0E=W

G811

611

G611

cl

GO'C1

11

G1'CI1

[——](H)sd®



[4AN] swir)

¢¢ 6§ % v G¢ ¢ §¢ ¢ G661 1T GO0 O

S/Wy QOT=A 2Wsz0'0=Z “WO0E=W

COTI
PO'LT

9011

] (or)sd



[4AN] swir)

S/Wy QOT=A 2Wsz0'0=Z “WO0E=W



[4AN] swir)

S/Wy QOT=A 2Wsz0'0=Z “WO0E=W



[4AN] swir)

G S GF ¥ S€ € 62 ¢ ST I S0 O
e

S/Wy QOT=A 2Wsz0'0=Z “W O0E=W

[——](g)sde



[4AN] swir)

S/W3 00T=A

QWS 200=Z

“W 0E=IN

-] (D)sdo



GG

S

v v

[4AN] swir)
Gt & G (¢

ST T G0 O

S/WY 00T=A DWsgO0=Z

[——-] (N)sdo



[1AN] sy
¢ ¢ Sv v G¢ €& 6¢ ¢ S1 1T G0 O

oL9
MEEEE e
LN fes
i T e
NS IR
| , , , , , , , , 929
8Z'9

: : : : : : : : : : €9

S/Wy QOT=A OWSz0'0=Z “WOL=I

[-——](O)sds



[1AN] sy
¢S S Sv ¥ S€ € ST ¢ ST T S0 O
— 1 T T T T |86l

LI e
RN e
A [ a0
N f a0

| | 'z
cl¢
ril'c
91°¢

! ! ! ! ! ! ! . ! ! ! QT'?
S/WY 00T=A SWs¢00=Z N 0e=IN

[——] (4)sd>



[4AN] swir)

¢¢ ¢ §¥ ¥ G¢ ¢ 62 Z S1 T G0 O
. . . . . . . . . . 'S

o e

R T | 2

e o o e L

e

R e | sevs

1478

! ! ! ! ! ! ! . ! ! ! S araLe
S/WX Q0T=A DSWs 0'0=Z W 0e=IN

[———] (eN)sds



[4AN] swir)

S/Wy QOT=A 2Wsz0'0=Z “W O0E=W

'y
v
1S %
%
17 7
9"
L'V



¢ 6§ GF v G¢ & G ¢ G1 1

[4AN] swir)

S/WY 00T=A DWsgO0=Z

G10°G
c0'S
G20'G
c0’§
Ge0'G
r0°G
A0S
GO'S
GG0'S
90°G
G90°G

[———] (B)sde



[1AN] sy

GG 6 GSF ¥ G€ € 6Z ¢ ST 1T S0 O
L e e 2

36°¢

i fzov

o e = { vos

e o o

! ! ! ! ! ! ! . ! ! ! 0t
S/WY 00T=A SWs¢00=Z N 0e=IN

[———] (ly)sds



[4AN] swir)

¢¢ 6§ % v G¢ ¢ §¢ ¢ G661 1T GO0 O

S/Wy QOT=A 2Wsz0'0=Z “WO0E=W

A

T 4!

eVl

Gevl

!

Srvi

GPI

lunsy\| @zis—eu100—aH



[4AN] swir)

¢¢ 6§ % v G¢ ¢ §¢ ¢ G661 1T GO0 O
e

S/Wy QOT=A 2Wsz0'0=Z “WO0E=W

it

G111

GG'TI

91l

lunsyy| @zIs—a102-0)



[1AN] sy
¢ ¢ Sv v G¢ €& 6¢ ¢ S1 1T G0 O

S/Wy QOT=A OWSz0'0=Z “WOL=I

690

L0

120

cL0

eL0

v/ 0

G20

90

[——] THs



[1AN] sy

GG S SY ¥ §€ € 62 2 ST T G0 0
S Rk

L _0TXP

[ _0TXS'p

. _0TXS

[ _0TXS'G

,_0TX9

,_0TXG'9

[ _0TX/L

" " " " " " " " " " 1 _0TXG'/
— ‘A— © —
S/W 00T=A OSWsg0'0=2 N Oe=IN

[~ 2Hs



[4AN] swir)
GG G S ¥ G€ € 62 ¢ ST T S0 O
— T T T T T T T T 5000000

o e T — et S 1 0100000

G10000°0

0200000

G20000°0

000000

v 1 eeooooo
S/Wy Q0T=A O2Wsz0'0=Z “WO0E=I

-] €oHs



[1AN] sy
GG G S v G€ € 62 ¢ ST I S0 O
L vcO

G20
e o {20

R ] 26

B s

> | e

! ! ! ! ! ! ! . ! ! ! IS0
S/WY 00T=A SWs¢00=Z N 0e=IN

[=—=1¥3Hs



[1AN] sy
¢ ¢ ¢V v G¢ ¢ 6 ¢ ST 1T 60 O

]
L

S/Wy QOT=A DWSz0'0=Z “WOL=I

0

1 OTXG
 _OTXT
[ _OTXG'T
,_0TXZ
[ _0TXG'Z
,_OTXE
_0TXGE

 _OTX

-] ors



[1AN] sy

¢ 6§ Gv ¥ G¢ ¢ & ¢ 61 1T S0 O

S/Wy Q0T=A DWSz0'0=Z “WOL=I

el

e

11—

i

11—

i

OTX1

O] ReVdt

0N RS3

OTXy

0N RS

OTX9

[———]z11s



[1AN] sy
¢¢ ¢ Gv ¥ G¢ ¢ 6¢ ¢ S1 1T G0 O

I e e e R P
Bl e e e R e
e R s e B o | sove

R IR R R R i A | oves

L e A | arove

LR B
R B

£ " " " " " " " " " c1-0T%8
— ‘A— © —
S/WY 00T=A OSWsg0'0=Z N Oe=IN

[-—=] £3gs



[1AN] sy
¢ ¢ ¢V v G¢ ¢ 6 ¢ ST 1T 60 O

0
,_0TXG
1 OTXT
1 OTXG'T
1 0TXZ

1_0IXS'Z

1 OTXE

T oTxeE
— ‘A— © —
S/W 00T=A OSWsg0'0=2 N Oe=IN

-] 6ogs



[1AN] sy

¢¢ § 9% ¥ §¢¢ ¢ 6¢ ¢ S1 1T 60 O
S/Wy Q0T=A O2Wsz0'0=Z “WOE=W

Ge—

Ge—

Ge—

Ge—

Ge—

Ge—

Ge—

OTXT

O] ReVdt

01189

OLXxy

O01TXG

O1X9

OTXL

-] g8



[1AN] sy
¢ ¢ ¢V v G¢ ¢ 6 ¢ ST 1T 60 O

0
1 0TS
1 OTXT
51 OTXG'T
1 0TXZ

L, 0TXGZ

" " " " " " " " " h L _0TXE
— ‘A— © —
S/W 00T=A OSWsg0'0=2 N Oe=IN

-] otas



[1AN] sy
¢ ¢ ¢V v G¢ ¢ 6 ¢ ST 1T 60 O

0

1 0TXZ
L _OTXY
,1_0TX9
,_0Tx8

[1-0TXT

1 0TXTT

S S S SN S S S I ST
— ‘A— © —
S/W 00T=A OSWsg0'0=2 N Oe=IN

[——]118s



[1AN] sy
¢ ¢ ¢V v G¢ ¢ 6 ¢ ST 1T 60 O

0

pc—0TXSG
W W W W W W W W W mmloﬂxH
R R @ g OTXS'T
e || {0
e e e e e s o e5-01¥5C
N R e O | w00
R . cg-0TXS'E
— - o cs-ODXY
SR R S s 0TSy
cc-0IXG

S/W 00T=A OSWsg0'0=2

[——=]110s



[1AN] sy
GG G Sv ¥ SE€ € 62 2 ST T S0 O
— T T T T T T ] =0000000

01000000

G100000°0

0<00000°0
S200000°0
0000000
G£00000°0

07000000

1 eb000000
S/Wy Q0T=A 2Wsz0'0=Z “WOE=W

[——]210s



[4AN] swir)
¢ § Gv ¥ G¢ ¢ 6 ¢ ST 1 60 O

500000000

900000000

£0000000°0

800000000

600000000

010000000

110000000

S/wy 00T=A OWsSZO'0=Z “W 0=

[——]€T0s



[1AN] sy

¢ § Gv ¥ G &€ 62 ¢ ST 1T 60 O

S/Wy Q0T=A DWSz0'0=Z “WOL=I

65 0TXG8E'T
5 OTX6E'T
65 OTXG6E'T
66 OTXt'T
5 OTXSOP'T
66 OTXTH'T

66 OTXSTH'T

[——] 2N



[4AN] swir)
¢ §¢ Gv v G¢ ¢ 6¢ ¢ S1 1T G0 O

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

[ ¥INs



[4AN] swir)
¢ §¢ Gv v G¢ ¢ 6¢ ¢ S1 1T G0 O

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

[——]STNS



[4AN] swir)
¢ §¢ Gv v G¢ ¢ 6¢ ¢ S1 1T G0 O

— T T 1 T T T ] | 20000
O
B 1 8100000
R — s e 1 6100000
T e
S T | oo

” ” ” ” ” ” ” ” 200000
¢20000°0

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

-] 9T0s



[4AN] swir)
¢S S S v S€ € ST ¢ ST T S0 O
— Tt 1 1 10— 0

o 0TXC
o OTXY
o 0TX9

o 0TX8

R { o

o L

F 3 N R N R S N A OTXt'T
S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

[——=1 108



[1AN] sy

¢ § Gv ¥ G &€ 62 ¢ ST 1T 60 O

S/Wy Q0T=A DWSz0'0=Z “WOL=I

5000000000
0100000000
G10000000°0
0200000000
G20000000°0
000000000
G£0000000°0
0700000000
G¥0000000°0
0500000000
GSG0000000°0

[-—]8T0s



[4AN] swir)
¢ §¢ Gv v G¢ ¢ 6¢ ¢ S1 1T G0 O

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

[~ 6T4s



[1AN] sy
GG S St ¥ S€E € 62 2 ST T S0 O
L £<000000

B R -4 ¥£00000°0
B R -4 S£00000°0
R e 1 9£00000°0

R 1 ££00000°0

8000000

v 1 6e000000
S/WX Q0T=A O2Wsz0'0=Z "W 0g=I

[-——] 0zeNs



[1AN] sy
GG S Sv ¥ G€ € 62 2 ST 1 600
— T T T T T ] 4090000000

X o - { 8000000000
e f O S s T S S —— - { 8000000000

R = 1 6000000000

R e = 1 6000000000

6000000000

0 v 1 9T0000000°0
S/Wy Q0T=A DWSz0'0=Z “WOL=I

[-——] 12°eNs



[4AN] swir)
¢ § Gv ¥ G¢ ¢ 6 ¢ ST 1 60 O

S/Wy QOT=A 2Wsz0'0=Z “WO0E=W

20000000
G2000000°0
920000000
/20000000
80000000
620000000
00000000
1£000000°0

20000000

[———]czens



[1AN] sy
¢ ¢ ¢V v G¢ ¢ 6 ¢ ST 1T 60 O

10000000

R e e 1 20000000
R I O SIS SIS S I S SU S S v 1 €000000°0
R e S S e s S 1 ¥000000°0

e R -4 50000000

ol 1 90000000

R s R - { £000000°0

190000000
S/WX Q0T=A O2Wsz0'0=Z "W 0g=I

[———] €zens



[1AN] sy

¢ 6 Gv v G¢ &€ 62 ¢ ST 1T G0 O

S/Wy QOT=A DWSz0'0=Z “WOL=I

G100000°0
G100000°0
S100000°0
G1000000
91000000
91000000
91000000
91000000

91000000

[———] vZ38Ins



[4AN] swir)
¢S S Sv v S€ € G2 ¢ ST T S0 O
A e R

e e e 1 S1000000°0
s e e 1 91000000°0
B R e 1 £1000000°0

R 1 810000000

610000000

S/un Q0T=A OWSZ0'0=z “WOE=W

[———] Gz3Ins



[4AN] swir)
¢ § Gv ¥ G¢ ¢ 6 ¢ ST 1 60 O

S/Wy QOT=A 2Wsz0'0=Z “WO0E=W

£1000000°0

810000000

610000000

02000000°0

120000000

¢2000000°0

€2000000°0

[-——]9z3ns



[1AN] sy
¢ ¢ ¢V v G¢ ¢ 6 ¢ ST 1T 60 O

0
- [1_0TXG
ISR R S S U SRR NS SO NSRS S 1 01_0TXT
JIRERRRERN oo
LR oo
HERRRNRRREE | yove
1 e
L LT orxse

S/Wy QOT=A DWSz0'0=Z “WOL=I

[———] 9z1vs



[4AN] swir)
GG S SY ¥ S€ € G2 ¢ ST T S0 O
— T T T 610000000

610000000

020000000

02000000°0
B N .- 1 12000000°0
... 1 120000000

S s e = 1 220000000

y A e R S 1 220000000

€2000000°0
s/wy 00T=A dWszp'0=Z W O0L=I

[———] £21vs



[1AN] sy
¢ 6§ §v v G¢ &€ 6 2 ST 1T G0 O

S/W 00T=A OSWs20'0=Z

16172000000
16172000000
Z5¥c00000°0
ZS¥200000°0
ZS¥200000°0
Z5¥200000°0
Z5¥200000°0
¢SG¥200000°0
¢S5 200000°0
¢S5 200000°0
¢G¥200000°0
¢G¥200000°0

[———] gzIss



[1AN] sy

¢ § Gv ¥ G &€ 62 ¢ ST 1T 60 O

S/Wy Q0T=A DWSz0'0=Z “WOL=I

8¢1000000°0

8¢1000000°0

610000000

610000000

010000000

010000000

110000000

[-—-] 62!SS



[1AN] sy

¢ § Gv ¥ G &€ 62 ¢ ST 1T 60 O

S/Wy Q0T=A DWSz0'0=Z “WOL=I

/300000000
/300000000
/300000000
8800000000
8800000000
8800000000
8800000000
8800000000
63800000000
63800000000

[——-] og!ss



[1AN] sy

¢ 6 Gv v G¢ &€ 62 ¢ ST 1T G0 O

S/Wy QOT=A DWSz0'0=Z “WOL=I

05000000

05000000

16000000

16000000

16000000

16000000

16000000

[———] 9Ga4s



[4AN] swir)
¢¢ ¢ Sv ¥ G¢ € G¢ ¢ SG1 1T S0 O

— T T T T 0

S/Wy QOT=A 2Wsz0'0=Z “W O0E=W

[——] TH°



[4AN] swir)

GG G S¥ ¥ GE€ € 62 ¢ ST T G0 O
. . . . . . . . . . vﬁlcﬁXNﬂ.h

— ——— { rOTXTL
e e | m-otrore
-1 01x8TY

T T T T | y0Tes
e e | yovezs
e - | yorzs

e e | 01X

S S S S S S SN S RO} -7
— ‘A— © —
S/WY 00T=A DWsgO0=Z N Oe=IN

-] 2Hp



[4AN] swir)

¢ 6§ SPF v G¢ & G2 ¢ G1

I

S0 O

S/W3 00T=A

2Wws 20°0=Z

“W 0E=IN

-] ok



[4AN] swir)

¢ ¢ 6%y v G§g¢ ¢ G§g¢ ¢ ST T 490 O
S/Wy Q0T=A O2Wsz0'0=Z “WO0E=I

0

10,

90

30

[=—=]¥3H>



[1AN] sy
¢ ¢ ¢V v G¢ ¢ 6 ¢ ST 1T 60 O
0

m m m m m m m m m Nm|Ome
—— S S {wore

R | 1 0DXST

R R e o e | s-0vee
e e e | 0TS
e e | v

b o R | sorse

|
=

OTXy

_ o~ O _ 1Ga—
S/WY OQT=A DJWs Z00=Z N 0=

-] orTo



[1AN] sy
¢¢ ¢ Gv ¥ G¢ ¢ 6¢ ¢ S1 1T G0 O

qr_OTXT
qp_0TXZ
qp_OTXE
0Tx¥
qp_0TXS
a7 0TX9
qpOTXL
[ 0TX8

. . " " " " " " " " wH|Ome
S/Wy Q0T=A DWSz0'0=Z “WOL=I

81—

[ 2>



[1AN] sy
¢¢ ¢ Gv ¥ G¢ ¢ 6¢ ¢ S1 1T G0 O

[ (_OTXT
1_0TXZ
[1_0TXE
(_0TX¥
(0TS

1_0TX9

" " " " " " " " " " 1-0TX/L
: ® _
S/WY 00T=A OSWsg0'0=Z N Oe=IN

I WALSE



[1AN] sy
¢ ¢ ¢V v G¢ ¢ 6 ¢ ST 1T 60 O

0

| | | | | | | | | 60175
— T - S {eeom
R e e e ) {eovsT
S S B i
S e e e e e 1 - 0TX5C
AR A A S B i
AR  ap-0TXS'E
— B S| o
B e | {somsY

—_— TR 0] g3

S/Wy QOT=A DWSz0'0=Z “WOL=I

-] 68>



[1AN] sy
¢ ¢ ¢V v G¢ ¢ 6 ¢ ST 1T 60 O

0

7 0TXS

,_OTXT
,_OTXG'T
0TXZ

L1

1 _0TXGC

" " " " " " " " " " ,1_0TXE
— ‘A— © —
S/W 00T=A OSWsg0'0=2 N Oe=IN

-] 880



[1AN] sy

¢ 6 Gv v G¢ &€ 62 ¢ ST 1T G0 O

S/W 00T=A OSWsg0'0=2

0

e, OTXS

L, OTXT

o, OTXG'T

L, 0TXZ

L, 0TXS'Z

-] oT8P



[1AN] sy
Sv ¥ ¢6¢ ¢ 6¢ ¢ S1 1T S0 O

wwwwwwwwwwwwwww wwwwwwwwwwwwwww s | g omes

, , , , , , , , , [
R A B L

A D R S

wwwwwwwwwwwwwww WWWWWWWWWWWWWWW wwwwwwwwwwwwwww WWWWWWWWWWWWWWW wwwwwwwwwwwwwww wwwwwwwwwwww | eover

I N S B B

wwwwwwwwwwwwwww WWWWWWWWWWWWWWW wwwwwwwwwwwwwww WWWWWWWWWWWWWWW wwwwwwwwwwwwwww wwwwwwwwwwww | re-ovea
B0 AR A B e
R B R e e e o | 15008

A N S NN SRS T S SN N 016
. © —
S/WY O0T=A DSWsz0'0=Z N 0e=IN

[——] 1180



[1AN] sy
¢¢ ¢ Gv ¥ G¢ ¢ 6¢ ¢ S1 1T G0 O

0
5 OTXT
,,_0TXZ
5 OTXE
,,_0Txp
5 0TXG
,,_0TX9
5 0TXL
I I R R R S M R S ,,_0Tx8
AR S S S SN S NN N L 0T%6

S/WY OQT=A DJWs Z00=Z O 0S=I\

[-——] 1122



[4AN] swir)
¢¢ ¢ Sv ¥ G¢ € G¢ ¢ SG1 1T S0 O

S/Wy QOT=A 2Wsz0'0=Z “W O0E=W

[——]212°




[4AN] swir)
¢ §¢ Gv v G¢ ¢ 6¢ ¢ S1 1T G0 O

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

[——] €12



[1AN] sy

GG G SY ¥ S€ € 62 ¢ ST T 600
e e I L

e e e ———— {66 OT6ET

e R - { e OTS6ET

66-01*V'1
e e o 1 66-0TX50¥'T

R e ] e 0TIV

b OTXGTT
S/Wy Q0T=A DWSz0'0=Z “WOL=I

[——] TN



[4AN] swir)
¢ §¢ Gv v G¢ ¢ 6¢ ¢ S1 1T G0 O

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

[——=]¥TNo



[1AN] sy

¢ 6§ Gv ¥ G¢ ¢ & ¢ 61 1T S0 O

S/Wy Q0T=A DWSz0'0=Z “WOL=I

o7 OTXT
01 0TXZ
o7 OTXE
o1 0TX¥
07_0TXG
o7 _0TX9
o1 _0TXL
07018
01_0T%6
_OTXT

[——=]STN®



[4AN] swir)

¢¢ & Sv ¥ G & G6¢ ¢ G1 1 60

S/Wy QOT=A 2Wsz0'0=Z “W O0E=W

10
¢0
¢0
10,
G0
90
L0
30

-] 9109



[4AN] swir)

¢ 6§ G% ¥ G¢ € G ¢ ST 1T 60 O

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

0
_0TXS
o OTXT
0 OTXS'T
o 0TXC
0 0TXST
o OTXE
0 0TXS'E
o OTXY
0 0TXS'y
o 0TXS

[—=1,100



[4AN] swir)

¢ 6§ G% ¥ G¢ € G ¢ ST 1T 60 O

mmnimAL(

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

0
o_0TXS
c_OTXT
c_OTXG'T
_0TXZ
c_0TXGC

. _OTXE

[——18T0°



GG G

[1AN] sy
Sv ¥ ¢6¢ ¢ 6¢ ¢ S1 1T S0 O

S/Wy Q0T=A DWSz0'0=Z “WOL=I

1 OTXT
1 0TXZ
1 OTXE
1 OTxp
1 OTXG
c1_0TX9
1 0TX/
c;_0Tx8

[~ 6T4



[1AN] sy
¢ ¢ Sv v G¢ €& 6¢ ¢ S1 1T G0 O

IIEEEE [
R L |
REEE T e
REEE T e

>, | sec

! ! ! ! ! ! ! . ! ! ! GE'0
S/WY 00T=A SWs¢00=Z N 0e=IN

[-——] 0zaN>



[4AN] swir)
¢¢ ¢ v ¥ G¢ ¢ G6¢ ¢ S1 1T G0 O
I
e
WWWWWWWWWWWWWWW WWWWWWWWWWWWWWW WWWWWWWWWWWWWWW WWWWWWWWWWWWWWW WWWWWWWWWWWWWWW WWWWWWWWWWWWWWW WWWWWWWWWWWWW | one
WWWWWWWWWWWWWWW WWWWWWWWWWWWWWW | ovs

s

" " " " " " " " " " @|OHX®
S/Wy QOT=A 2Wsz0'0=Z “WO0E=W

[——] 12eN>



[4AN] swir)

¢ 6§ G% ¥ G¢ € G ¢ ST 1T 60 O

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

0

- 0TXS
¢ OTXT
¢ OTXS'T
. 0TXZ
. 0TXGT
_OTXE
. 0TXS'E

_OTxp

[-——]zzaN>



[4AN] swir)
¢S S S v S€ € ST ¢ ST T S0 O
— T 1 1 1 ]9

L e
N
N | o
N | o

Y A

A S S SR S SN S SR S o 0TXE
S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

[———] €zeNd



[4AN] swir)
¢¢ ¢ v ¥ G¢ ¢ 62 ¢ S1 1T G0 O
s
WWWWWWWWWWWWWWW WWWWWWWWWWWWWWW wwwwwwwwwwwwwww WWWWWWWWWWWWWWW WWWWWWWWWWWWWWW wwwwwwwwwwwwwww wwwwwwwwwwwww | w00
e | 5100

] 200

! ! ! ! ! ! ! . ! ! ! G200
S/WX Q0T=A DSWs 0'0=Z W 0e=IN

[———] y23W>



[4AN] swir)

¢ 6§ G% ¥ G¢ € G ¢ ST 1T 60 O

S/WY 00T=A DWsgO'0=Z

0
- 0TXS
¢ OTXT
¢ OTXS'T
. 0TXZ
. 0TXGT
_OTXE
. 0TXS'E
_OTX¥

[———] gz3NW>



[4AN] swir)

¢ 6§ G% ¥ G¢ € G ¢ ST 1T 60 O

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

0
0T
o 0TXY
5-0T%9
5 0T%8
_OTXT
c0TXT'T
c OTXP'T
c0TX9'T
. 0TX8T
_0TXZ

[———] 923>



¢ 6§ G% ¥ G¢ € G ¢ ST 1T 60 O

[4AN] swir)

S/W3 00T=A

QWS 200=Z

“W 0E=IN



[4AN] swir)
¢ §¢ Gv v G¢ ¢ 6¢ ¢ S1 1T G0 O

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W



¢ 6§ G% ¥ G¢ € G ¢ ST 1T 60 O

[4AN] swir)

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

10000

G1000°0

c0000

S20000

€¢0000

[——] gz!Is°



[1AN] sy

¢ 6 Gv v G¢ &€ 62 ¢ ST 1T G0 O

S/Wy QOT=A DWSz0'0=Z “WOL=I

10000000
0000000
€000000°0
0000000
S000000°0
90000000
/0000000
8000000°0
60000000
01000000

[——] 62152



¢ 6§ G% ¥ G¢ € G ¢ ST 1T 60 O

[4AN] swir)

S/Wy QOT=A 2JWsz0'0=Z “WO0E=W

0
,_0TXS
.
o OTXT O
oy
-
1
o OTXST |
o 0TXZ
5 0TXS'Z



[1AN] sy

¢ 6 Gv v G¢ &€ 62 ¢ ST 1T G0 O

S/Wy QOT=A DWSz0'0=Z “WOL=I

05000000

05000000

16000000

16000000

16000000

16000000

16000000

[——] 9Ga4o



[4AN] swir)

S/Wy QOT=A 2Wsz0'0=Z “W O0E=W

10
0
¢0
10,
G0
90
L0
30
60

DA /JINSA



9¢t

3¢t

[>] #°1 301
b 2

J31emp

%



[4AN] o)
PG 26 G 8¥Y 9V ¥v v ¥ 8¢ 9¢ P¢

©

d3remp N 0¢€



[4AN] o)
GG G Qv ¥ G¢ € 6¢ ¢ ST 1T G0 O
0
0
70
IA
@)
90
380

I

©

d3remp N 0¢€



[4AN] o)
GG G Qv ¥ G¢ € 6¢ ¢ ST 1T G0 O

Z0
v
“““““““ @
‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ g %Mm&":_‘%m&;m&?ﬁgi
| mmc__ jo \_wnE:c _mao._.
\\\\\ P ¢ NS W N NN S ——
m m m mow Bn Hmm G09 bSt €5 207
- 9 i a 2 & VvV S
w - - oou “““ wow ““““ mwv “““““ €Ot 2S¢ T mHo ““““““““ -
® "> 17 3 @ D 8 Vv:iusocod

remp | o€



